
 
VSDP 
Example F 
Option 2 
 
 
Cred Comp - $1500 
 
 
 
 
 
 
 
 
 
 
 

Semi-Monthly Salary is $1500, Worker’s Comp Daily Indemnity Rate is $100; 10 day 
pay period:  9 days at 80% Income Replacement, employee chose to supplement 9 days 
with leave, but was LWOP for 1 day.   

 
1. Calculate the amount of Worker’s Comp Benefits due the Employee. 
  

a. $100 multiplied by 9 days = $900 
b. Use Special Pay 002 (WRK COMP) to pay $900 on HUE01. 

 
2. Calculate the VSDP Benefits due the employee (no change in method). 
 

a. $1500 divided by 10 working days in pay period = $150 per day 
9 days multiplied by $150 per day = $1350 multiplied by 80% = $1080 
$1080 - $900 (Worker’s Comp) = $180 VSDP/WC Benefits Due 

b. Use Special Pay 062 (WCSDPBEN) to pay the employee $180 on HUE01. 
 

3. Calculate the Regular Pay due for the Leave Supplement. 
 

a. $150 per day multiplied by 9 days = $1350 multiplied by 20% = $270 
b. Key $270 on HUA03 to pay the employee Regular Pay. 

 
4. Because all of the Creditable Compensation is not accounted for in the 

transactions entered 8XX overrides must be calculated and entered for all 
applicable Retirement (012 or 127, 116, 117), Retiree Credit (105, 115) and 
Buyback (017, 043) deductions on HUD01 (the puzzle pictured to the left is not 
complete).  This item will show on Report 869. 
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